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SECTION – A

Answer ALL questions:                                                                        


  (10 x 2 = 20 )

1. Enumerate various Investment attributes.

2. What do you understand by gambling?

3. What is unique risk?

4. List out the assumptions of Random walk theory.

5. Highlight the important feature of Filter Test.

6.  Under what situation the ‘Rupee cost average’ plan is applied?

7. What is portfolio? What are its objectives?

8. What are the problems encountered in Portfolio revision?

9.  R & Co. had a dividend payout ratio of 30%, earnings per share Rs.10. Its internal rate of return is 20% and the normal capitalization rate or cost of capital is 25%. What is the price of share under Walter Model?

10. A Rs.1,000 bond matures in 20 years and offers a 9% coupon rate.  The required rate of return is 11%.  Compute the bond’s value.  (11%, 20 years = 7.963; 11%, 20 years = 0.124)

SECTION – B

Answer any FIVE questions:                                                                    


     (5 x 8 = 40 )

11.  Highlight the stages of investment process.

12.  What are the criticisms posed against the efficient market hypothesis?

13. Lay out various steps involved in Portfolio construction.

14.  Explain three principles of Port Folio diversification.

15. Give an account of various tests conducted under Semi-strong form.

16.  A company belongs to a risk-class for which the appropriate capitalization rate is 10%.  It currently has outstanding 25,000 shares selling at Rs.100 each.  The firm is contemplating the declaration of dividend of Rs.5 per share at the end of the current financial year.  The company expects to have a net income of Rs.2,50,000 and a proposal for making new investment of Rs.5,00,000.  Show that under MM assumption, the payment of dividend does not affect the value of the firm.

17. An investor is seeking the price to pay for a security, whose standard deviation is 3%.  The correlation coefficient for the security with the market is 0.8 and the market standard deviatin is 2.2%. The return from government securities is 5.2% and from the market portfolio is 9.8%.  The investor knows that, by calculating the required return, he can then determine the price to pay for the security.  What is the required return on the security?

18.  The following information is available in respect from security X under different economic conditions:


Economic condition

Return


Probability


Good



20%


      0.1


Average


16%


      0.4


Bad



10%


      0.3


Poor



  3%


      0.2

Find out the expected return of the security and the risk associated with that.

SECTION – C

Answer any TWO questions:                                                                 ( 2 x 20 = 40 )

19. What is portfolio management?  Explain the process involved and the factors contributing to Portfolio management?

20. Give an elaborate account of various Investment alternatives available to the investors.

21.  Write note on 

(a) Capital Asset Pricing Model

(b) Bond Valuation theorm

(c) Markowitz Portfolio

(d) Gordon’s Dividend Model
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